1. Which one of the following 18 ot & 3. Consider the following passage .
cotrest symbolization of ~p and

Ve Some morals ... .. have an influence
oty f g™ ?

on the actions and affections, il
follows that they {morals) cannot be

i derived from reasons ... ... becalse

a): {_P_:'qi'{q - p) reason alone can never have any such
' ~influence. h

(b} p=q The author wishes to arru. for the

conclusion which is str.. ' as

el tp-p} D
'V"{ Pl {a) moral value s ca be deduced

from o ss0oT o, .

fd) lp-qdvi~p-~q}

(bl mo.ol volues can influence our
ctio .

{=} reason cazn have an mflnence on

2. Given that p 15 o wre .
Gi that p is true, both ¢ and I ar our action

falsc, whal ¢ap you tell about the
truth value of

L
Jd moeal lavs cannot e deduced:
from reason ajone

qpz=lg 2 r)iaHr=tp oail.

fa) Tts {ruth vahue is e -

4. The statemen ' p unless " should pot

(p}-Tts trury value 1s trae be transtaked as
L - - ro
.4 : o i = .
fcd ts . ath .valye cannot | be u”f J P2y s
A termnined as  the  given
H f‘ 3 1 o . 3 '\r- " -
information is not sofficient bl ~p g 3
{d] s truth value will be g in two fel =g 0p
coses, and talse in two cases, )
hence 11 is a4 contingsnt
proposilion (b p™vag

A DTG E-RJKS 84 a



5. Wih regard to Asistoile’s concept of
substance, consider the following
statements :

1. Substances are never present in
a subject.

Substances are never predicable
of a subject,

[ ]

1. Asubstance is the logical subject
of a subject-predicate centence.

Which of the staternents given above
ares correct?

(2} 1 amd 2 {}.nly
b} 2 and 3 only
Jed” 1, 2 and 3

fd} 1 apd 3 only

4. Vescartes’ delmition < su st-ace as
“nothing other Lhan . ““ing which
exists in such w7 a: to depend on
ao other thing lor !s existepee’ Is
satisfied by

-

{51, "ot mind amd body

-

1

ot mind alone
fo}  body alone

{df wncither mind nor body

N DTO-K-RIK/BA

7. Which one of the foltowing staterndnts
correctly reproscnts Locke's view of
substancz? '

fa) Substance means the totality of
altributes

r\,ﬂffﬂSnbﬂnnce means th . a hslratom
or the ground of « dbat

fc}) Substance mea : e totalily of
ideas

{¢) Substan.. means (he logical
¢ o5t otion of sense-data

Lonsicer the following staternents
1. 1 axist, therefore [ think.

2. 1 exist only when I am not
deceived in my Lhinking.

3. 1 think, therefore 1 exist.

4, | recogmize, therefore I exist.

Which of the above statements
incorrectly mterpret the claim of
Descartcs  about  the  thinking
subsiance or the 'T? ——_

{a} 1,2, 3and4
{b} & and 4 only
et ! , 2 andd 4 only

(d} 7 and 3 only



rl

9. Aristotle’s ethics 15

fa} deontological

(b} pantly decentolagical

._{fer ielectogical

{d} neither  deontological nor
leleological

19. Consider the following statements

. The weather is not good i¢day.
2. This czll phone is not- good.
1. Your sister is not a good gi?

4. What'you have done'iss strond.

Which of lhe zhove swa.. enis are

gxpressed (o use e L oorc ‘good’ a
inoral sense?

{fzi 1 ~ng?

2 and 4

fol 2 and 3

) Aund 4

M OYTO-K-RJK/ 84

. Which of the Fillowing s not

subscribed b}; the telcologst?
{2) Anaction has instrumental valoe

{b) An action is right because of its
consequences

fc) Ounly  consequ ace have
intrinsic valur

-:_,[-'cff' An actt n ba. value.in itself

12, onsifer the following statements ©

1. Al valid argomenis have only
tTue Preinises.

2. Asound arpgment must be valid.

3. An argument with a false
conchision cannot be valid.

4. AR argoments | with  true
conchesions are valid. -

Which of the statements given above
15/ are correct?

..VF&IF 2 and 4

{b) 4 only

fc} 1 and?2

{d) 3 and 4



13. Which one of the following s oot
cortect?

ey

\ 4, Suppose

' {571 one of the premises is invalid,

{2

the armument is not true

An argument ¢annot be sound if
one of the premises s false

If premises entail the conclusion,
then the argument will be valid

A deductive arpument may be

valid without being saund

“Some  pesticides are

poigons’ 05 e, What b omplied
regarding the truth or falsehood of
the following siatements”?

L.

3.

f'*r{}

Ng ' non-poisons  arc non

‘pesticides, P

Some peslicides are not now
poisons.

¥

MNo pesticides are poisc s,

Select the cofrect answe - s w he
code given helow ;.

Code

{1}

Fis ve, 2 isalse aned 3 cannoi
koodde nrn ged

o

e

'L dr:t?tmineci, 2 s true and
3 iy false

b s false, 2 95 true and 3 cannot
b delesmined

(f]'} Fis false, Zisirue and 313 False

v T KGR/ BA
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15. Which one of the following stalements
15 true?

5-}-"’;} hY & .
ﬁ\f}:b‘\xﬂontrapositive of A proposition

is 1 proposition H{.._

(bY. Contrapositive of | pronosition
T s mol valid

fe} Contrapositive w» a kind of

mediate infere we

fdl None of the ove

1#  Co =id s 1he following statements :

There are simple ideas of
sensation,
There are simple ideas of
reflection.

There are simple ideas which
require  both  sensation amud

reflection,

Which of the statements given ahove
is/are correct according to Locke?

{fa) 1 onky

{b} 2 omly

| and 2 only

e
/MJ i, 2uand



.-

17. Which is mot accepted by Berkeley?
{a) Esse est percipi

{b) Things as ideas

{c} Mind as the creator as well as”
the perceiver of ideas

an

fd) -Existence of matter as

ST ahstract idea

18. Which one of the following is correct
accmdiﬁg o Nydya Philosophy?
- fa)l A God  neither  can  creaie
.~ innumerable cternal atoms and
cternal souls, nor can He destroy
them

God i3 not co-eternal with atems
anh souls

Creatien iz not teleole -l

God is both ater o1 and

efficient cavse of 1« Iverse

19, The view bt I$vara (God) is only the
efficien. . "t ot material cause of the
worl = ele oy

»
L onkara

fod
fb) Ramanuja

fe} Buddhism

x)ﬁ} Nwviya - Vaisesika

MoUTO-K- RJK/8A
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20, The thoory, which hotds that every
person seeks his of her awn pleasure
and the only motive thal is effvetive is
the desire to get pleasure, is called

ethical hedondsm

fa}

Ib,f""iﬁsyclmiﬁgic:ﬂ hedonism

[

fc)

egoistic hedonism

fef)

altrugstic hed .o

21. Which of the . ~llow ng is acceptable to

Bentham?
# 1 “ne nner light of comscience
otg nig a guide to morakity

) Moral duties are decided by
universalizability of principles
) {g}-"'ﬁthicai chiigation ay-~. be
) defined in terms of ,.anctiansﬁ
{d} Measurement of pleasures  in
quantitative 1erms 13 not ethical
22. Who, ameng  the  followmg

philosophers, holds that subjective
feeling: of sympathy constituics ihe
internal sanction of conscience?
fa} Bentham
(b1 Mill
{c) Hume

fifp Ayer



23. Who, among the following, holds the
view that there would be nu meaning
i oan ought f it owere ol accom-
panicd by o san?

{a)} Spin OZA.
fh}) Hune
fof Locke

fdf Kant

24. Which of the following names is
associated  with  the  contention
“complete goed is virtue in harmany
with happiness’"?

R{F}/ i .Kﬂl'll
{b} Martinean
fc) Wit

e} None of fiiem

25, The falsehood of the onc. < on of
an argument in form. . gme does
cuarantes that

fa} iherpumen. s valid

{b} th wo vnend is invakid

‘~} at least ont of ils premises is
salse

I_Jdrf cither the argument s invalid or

at least one of 3s premises is
taisc

N-DTC K-TRIK/ 8A
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26, Which one of the lollowing statements
is gohlogically true?

fa} U either logicis di__ﬁ‘;cu}ﬁ%jmany
students like it, and in fact many
students do not like it, then fogic
is difficalt :

\ frﬁ}/fﬂalhm_naticians_ Qe e i i

{c} Logic is ~HE tlt{ﬁﬁ_}logic ig not
difficul

fd) 1 s 101 the casg that logic i
iR ait-and not difficolt

37, Given that “Either Chima or Fakistan
will disagree” is falge, which one of
the following is not true?

{(a) U Pakistan disagrees, then Chipg
will disagree

(b} U China disagrees, theu Pakistan
will disagree

fr} China will disagree if and only if
Pakistan disagrees

:‘cf}"f}f Pakistan does not drsagree,
~" then China will chsagree



28. Which one of the following staternents 31. Consider the following statements
is trus if A B, Caretrueand X, ¥, Z ‘regarding Berkeley :

are talse? . . g
e t. He is empiricist, idealist and

ia) EABVCI-~[1A-Bv(A-CH) fejects abstrace ideas.

2. Heis empiricist and rejects extra

fb} HX VYAV X)) uieilal woitd,
Jﬁ)’/iévz}'{y‘fﬂl jﬁhlch Qf the statements _ ‘en above
isfare correet? :
(d) ~[i~YvZ)={~ZVvY}]
fa} 1 only
2%. Which one of the following is ref b} 2 only

correct?

Lﬁ{:}}” 'i‘ *h F and 2
fa} Moods AAA and EAE are wvalid .
in the first figure - (cf) 1. wher 1 nor 2

{b) Moods Aas and BIO are valid in

the Tirst Digare . Consider the following statements :

_f=1” Moods AEE and BAM are v»ld 1. DLvcrything that  exists 1is
in the first figure mosentary, or in perpetual flux.
fd] Mands TAT and AlF £ € 20d m 2. The unity of the self is rediced

1o the multiplicity of fluctuating

the first figure -
mental moements.

3. Though there are no unitary

30, Whi_-:h a:-m? o tbe  folowing selves, there are umitary matenal
characterizt’ss  is  po¢  rmuc of obiects,

the N “ra-Vajsusika  notion of

Parar. snu’ Which of the siatements given above

isfare yne of Buddhism?

wofat T 2ated by God

_ fa} 1 onty
(b} Non-spatial 7
\}b;i 1 and 2 only
fc! Maturally passive :

fc) 1, 2and 3
(i} Individually supersensible and
collectively sensible : fd} 2 only

MOTTO KCGHJKS3A 14



33. In the Aristotelian scheme, matier is 36. Consider the following statements &

nof substance, because . o |
. Beotham's hedonism is based on

fa) mmatter is jnert psychological hedonism.

- 2. 1. 8. Mill regards that pleasure

fb) matter js subject 10 mechanical must  be  measured both
laws quantitatively and qualitatively.
fc} matter is created Which of the statémenis iive. above
is/are correct?
{d atter : independent o
\/)/T“ . lacfk&. Incepe - {a] 1 only
individual existence
(b) 2 only
34, Tirthankara iz best Jdeseribed 8z one *“fﬁ}/'nph boand 2

who has
- fat) 7o uher 1 nor 2

fa} conquered all his passions

7. Consider the following statements with

(b} attained omniscience -
Tegard to Stevenson :

¢} become complietely free 100 1. Ethical disogreements  arise

the bondage of Karma becauge of disagreement in
belief.

-

ﬁ)ﬁiscwercd the w; ¢ io he hore
across the troue. ~F ocean of
Samsara a0 g 1 ads others ol

2. Elhical disagreemients  anse
because . of disagreement
attitude. ) '

1 Ethical disaprecments can be

35, Buddha’ .-k a middle path between logically resohved.

fwe o ‘renes which are Which of the statements given above
. is/are correct?
f: 1 «nemplation and action

fa) I omly

{t} C.hﬂ!'ICt‘ and necessity M 2 ;:rni}f
_ .««./_H‘f}; indulgence and morification fe) 1 and3
(i) being and non-heing fd} 2 and?3

N PTO K-RJK/8A 16



1%. Censider the following staternents :

i

The major premise must be
universal negative in the second
figore.

The middle termn must be
distributed in all the premises.

The tefm which 15 distnibnted
in the conchsion wmust be
Jistributed in the premises, =

Whichk of the above statemends is;" are
pof the ndels) of valid syllogism?

fa}

2 only

{h)1 and 2
P

_fc}

id]

3

I only

39, Consider the follows—e st teents ©

{.

Always dizw.m the particular
propocitions .-oh as | and O
firs

Jhelr & PO
For  Jimgramming

Copasitions.

fixed order
calegorical

Use 3 "% to diagram a universal
proposition such as A and b,

Always diagram the universal
propositions such as A and L
frsl.

MNP KT AA
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Which of the statements given above

isfare correct

in the context of

validation by Yenn diagram?

ga)’/rﬂi’ F::mljf

{t} 3 and 4

fe} 2 and 3

{d}

PR S, LA 11

the following statencnts

~sapcialed with Descarfes

I

Substance 15 an existent thing
which requires nothing but iself
e order 1o exist.

-Nothing but God answers 1o {kis

description.

“Which of the above stalements 1s/are
- coTrect?

fa) 1 oniy

(i 2 only

s
.\I/CV Both 1 amd 2

{d] Neither Fooar 2



41, Counsider the following stateinents :

According to Nydya, mherence is the
redation that exists hetween

1. substance and quality
2 substance and activity

3. particular and generality

4. erernal substance and

patgticularity

Which of the statements given above
are correct?

{a} 2, 3 and 4 only

fb} 1 and 4 only

fey 1,2 and 3 only

ﬂdf/l 2 % and 4.

42. Which one of the fo’owirg arguments

e D

for the existenc
does nol a copt?

of God, Aguinas

faj 1. TEUMEnt from. motion

Vo e
L' “1ae argument from governance
af the world

fc) The  arpument’
_gradation in things

from the

-

{d] The onralagical argument

KCRJKSBA
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43, Consider the following statements :

44

45,

1. *“Giti" teaches renunciation of
ackion.

2. *Gita' teaches resunciation in
action.

3. ‘Gita’ teaches renv .. udion of

worldly life.

Which of the statemen. - given above
is/are true of "C.@"7

fag) 1
{t) 1
i .

.I‘a'” ¥

only
and .

aly )

ap |3

L. e eontext of Mill’s utilitarianism,
shich one of the following is nof
‘ommect? ' '

\/.[;rj/ The *greatest happiness' should
always be our explicit motive

fby Wonh of actions is different

from worth of moral agents
fc/ Happiness or pleasire is ous
sole end ;

{d}

Flappiness is something we find
in and through our acliims

Which one of the following stalements
is true of Gandhian conception of
'Means and Ends'?

fa) Truth and Akims3 arc the Means

f&6) Truth and Ahimsa are the Ends

-~ ) .

,_"}"}/ Ahimsd iz the Means; Truth is
the End

fdf] Truth i3 the Means; Ahimsa s
the End



.

y

iz

{aj Desire — Ignorzace —> Activity
{Bi Activity --» Desire — Rebirth
{c} Rebirth —= Acﬁvit}# —> Desire

{d) lgnorance — Desire — Activity
-3 Rebirth

47, Consider the following argument :
b All grE:‘]_LE__jsgig:_n;ié&ﬁg&;ﬁ%rg;}]mies.
Tor % Some elors are ggawcs.-

¥ “ Therefore,
seientists,

RIS EIC[DI& arc '-"IEdl

Which of the following is/ars correct
in respect of the above argament?

) /I-f It has form All=2.
2. Tt is valid. '
g.l‘ Il 15 imvalid,

Select the corme 1 an. v,
-code given below .

using the

Code : !

Sand 2

fbi 4

fol 1

and 3
only

{id) 3 only

N-TTTQ K-RJK/8A

46, Bhava-cakia, according 1o Brvddhism,

22

4%. A standard form categotical syllogism
can be tested for validity by Venn
diagram by representing i the
diggram
Ej,ﬂﬁe two premises alne

\/(g} the two premires =ad he
conclusion

fc} the “to pre aises anpd the
ne, atton »f the conclusion -

{c° the major premise and the

_onclusion

49 Which one of the following fallacies is
gommiticd - in the * argument Al
books -of literature are. subject o
erroF, 2and lhey are all of man's
inventions; hence all things of man’s
invention are subject to ermor’?

{a) Undistributed middle
f6) [Hicit major
i

Q_Le:f"rllli'cit yninor

fdd} Follacy of the tour terms



S0. Dravya, according i Vaiscsika, means

fa) the substratom where
qualiiies inhere

only

b}

the substratum where only
actions inheare ’

j;«}’ “ihe substance where both
\ ' -

qualitics and actions inhere

fd} the subsrance which is in stself,
alone, fully independent and
does not have anything else

51. Which one of the foljowing statements
- supports the privation theory of evil
in Augustine’s Philosophy™

fa) Ewil has no place m God’
Creanon

fo) E-v'iiis creation of mor Al t ing.
ﬁf Fivik is mere de~in of guud

ff) Bvil is  eraertal for  the
evalvation o . value of good

52, Con.'der .t following statements -

] yAya system asserts Lhat
LOnECIoUsSness i3 an adventitions
attribute of sonl.

2. Accordin.g t»  Philosophy  of

Nydya, soul is neither created
nor destroyved,

M. DTO K CRJK/8A
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Which of the statements given above

isfare corcact?

{a} 1 only
(b} 2 only
L.f/.:)/'f::.u1ah 1 and 2

{d} MNeither 1 aor ©

53, _onsiu. e following staterncnts :

.. Every individual.is a.compound
of matter and form., ~
n

2. "Matter’ means physical
“-..c‘\suhstance, and ‘form’ means
' “sh ape.

3. “mutter and ‘form’ are relative
LTI,

Which of the statements given above
are correct according ta Aristotle?

fal 1,2 and 3
fh) 2 and 3 only
f<)

i and 2 only

{ LUJI and 3 only
S



ﬁﬁ’ 54. Consider the following : 56, In a valid standard forin categorical
syllogism, if cither term iz distributed
in the conclusion, then if must be
distributed in the premises. Violation
of this is called as

according to Gandhi, AbUisa in Its
pasit'wa stale means

i. Love

2. Aparigraha {a} the fallacy of the four lerms

3. Non-killing (b} the fallacy of urltributed

4 Sward middle

y"fﬁﬁ fallacy ©F .. Tt novior or illiil
© mipnor

Which of the above is/are correct?
{a) 2 and 3 only {d} the exiv =nti' i fallacy

B 3 and'-f-’i onk - _
(®) 4 §7. which _7.ne foliowing teuth furclionat

cxpr :ssions isfare nef correst”?

(c) 1,2 3and 4 L p~q)=(pv @ =~l-p-q)

~ 2. {~p-~gl=~ipv-qi=
y/l only ~{p gl

3. (~pvg)E~lp-~q)={p2q)

4 {pm=g)=~Up ~qivi~p-~q)) -
55. Which one of the fnll vwin, .an be -

regarded as Lhe rmoral s anward in the - Sclect the correct answer using the

Gandhian fram cwil k7 code given below -
Coda -

fab 1 »

. 4 {fa) 1 and 3

) Pleasure :
(b} 2 only

\i“j)" Moy violence .
fc) 2, 3 and 4

fd) Sﬁff-rca]izatmra ,gf/d‘:i 2 and 4 only

N- YTO-E-RIK /84 26



58. Consider the followwing siatement .

I poditicians are rcsponsiﬁlc only if
the citizeAs are responsible; fhe
politictans are meither khonest nor
self-respecting,
ir

P : Politicians are responsible

C : Citizens are responsible

11 : Politicians are honest

$ : Politicians are sel-respecting

them  what is the correct
symbalization of the statement given
ahove?

{al {COPYDI~H v ~5)
fol (POC)D(~Hv~3)
fe} {COP1(~H-~5)

—

AN D0 D{~H - ~S)

W

59. p-lgvr)is equir ues
the following?

oo which one of
falj p .~ vl
GV g (g )

fcl plg>-r)

fdb p-l~¢ 5~r)

N UTO-K -RIK/SA
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60. Which one of the following 18 correct
according to Plato?

;(yﬁ' ﬁnrmq subsist independently of
any knowing mind

{6} Fomrns are ideas residing in the
mind of God\jl"'\

fc} Forms are .. .cenlal and
physical "

fg) Forms .~ in po way bo
~r eherded -

41  Cousrder the following statements -

1. Besides red objects, there
iz redness which  exists
independenily of 1ed objects.

- 2. Redness, like other universals,
© " _nost be viewed as essence and,
ag such, it is real in itself

Which of the statemnemis given above
. is/are in accordance with the view
advanced by Plato?

fa} 1 only
fb} 2 only
_{gi-Both 1 and 2

fdd} Meither 1 nor 2



AE $uppose thal the sentence “There s a " §4. Which of ihe following are Mahdvratas
A

cat on the mat’’ [y true. Which of {great vows} according to Faimsm?
the following statements regarding o
this troe sentepce would mofd be . 1. Ahimsd, Brahmacaryya

. ASmihaniln? _
acceptable to Nyaya.Vatsesika? 2 Sunrta {tzuthfulness), Asteya

' 3. Karuni
i) The existence of the cat-on-

the-mat is independent of our Select the correct answ s . sing the
cognition of it code given below :
- | | 1
- (b Perception of the cat-on-the- Code .

mat validawes the exisience of
the cal-on-the-mat

- {z ? aad § anly
fec) The existence of the ‘cat-on- '
the-mat is reidentifiable by =

later cognition

fh' "1 and 2 only

(d} The seritence corresponds 1o Ve {e) 2 and 3 only

state of affairs it represen’.
{fad) 1, Zand 3}

63. Descartes’ methed of ‘ouut leads to
the view that t 1= ¢rilin that 65. Which one of the following is the true
spirit of Nigkamakarma?

- fa} 1 .= s an embodied person . )
{a) Renuncialien of action

‘t, T-ain a bod e -
Y b. ¥ y_{b} Renunciation in action

o
=

1__jef I am a thinking subslance 1 ic) Inaclion
fdy 1 am etesnal {d) ch‘\écﬁﬁjoﬁ of the consequences

N oTYTO-K-RJIK f8A 20



66. Congider the following statements in
regard to the view of Kant's Moral
Philesophy :

1. Moral ideal is God's decree.

7 Moral ideal is achievement of
happiness of all.

3 horat ideal is abiding by the
maxiras of pure practical reason.

Whizh of the above stalemnents is/are
corrzct?

Sak -3 only -
fBF 1 and 2
fe} 2 amd 3
{d} None of the above
67. A parson is called oul Tjha when
he . '

{a) “baco es indifferent 1o VirtuQous

LI [

~ ‘b. becomes indifferent to joy and
SOITOWS

{cl attaifs God

{¢} emoys heavenly biiss

N DTO-K-RIE/BA 37

68. Which of the following truth
value assignments makes {~p val,
pv~qV, {~pv~gy and ~{pvql
al} corne out true simultanecusly?

fa) When pis false and g 1s true
(b} ¥hen p is true and g is falsc
fc) When both p and @ ar true

_{d) When both pand q a1 false

69. In a ptwo-v lued logic syslem, gIven
that A 3s 0.~ .3 is falss, C is true
ar . L s urnowi., What can you tell

~ab v, tF » truth value of

(- B-A (O ~ DI ~[{A-~BY ~{=C-D}]7

fa} Ms truth * value <annot be
determined as I is unknown '

(B} Its truth value is trug

gﬁﬁl'ﬁils teuth value is false

(d) fis trth  value  depends
completely on the truth value

af D
70. From the statement LAY IF, we
can validly derive
{a) {LvgrlavD}
b,,rsj’ﬁnf{na[wmv«n}
- fc) ~(LvAri~D]

\‘(dj LVEH'D]



£ .;F
-

J?l. Consider the following arguments

\. XDZ, Yoz, ~Z o X=Y
2. Xx0Z X~Z nEZDX

Which of the above correctly statels)
the validity status of the arguments?

-fa) 1 only

\Mnnl}'

{c} Both 1 aml 2

(ef) MNeither | nor 2

1. Consiler the following statements

concering Nydya-VaiSesika view of
Siménya !

1.  The individaal alone is real and
there iz no wniverzal other thar
particuiar objects of expericp

2. The universal is the basic ol he
notion of samengss th ( w. have
with regard to all th = e vic vals
of a certain claso.

3. There is no unt.esac subsisung
in anther u ver: al

Which o b~ “tatements given above
isfare 7 oecl:

{o' 7 nly
{bt 2 and 3
fe) 3 aely

fad} I and 3

N-[TO-K - RIK/BA

73. Which of the following arguments

is/are given by IPescartes when he
says ‘Cogito erge sum’™?

i. My existence follows fom my
thinking but not from any chance
action like walking or langhing.

2. lihink, Tcannot be wrong to h;_}ld
that | exist, whatever may be the
nature of my though! '

Select the &orrect ~~sw 't using the
code given below

Code @

.
g 0T

,‘4::; 2 ondy
{¢) Both 1 and 2

{d) MNeither I nor 2

74. According to Raminuja, [$vara and

Jiva are

{a} both distinguishable and
separable '

(&} mneither distinguiahab% nor
separable

{c] separable but not distinguishable

d) Estinguishable bul not scparable



75. Which of the following are the views of
Gandhi?

1. The Means may be likened to a
seed, the End to a tree.

2. There is no wall of scparation
between Means and End.

3, The . realization of goal s
proportional  to  the
employed.

Select the correéct answer using the
code given below -

Oorfe

{2} 1 and 2 only
fb} 2 and 3 only
fe} ) and 3 only
1.2 and 3
76. According Im _..'1:- sm, I‘r-::cd soul
possesses  An ntact tustya.  Which

one of the fo - ing
Anantacal, stya”

_da” Il ore tove
o1 Infinite knowledge
(¢} Infinite Bliss

{di Infinite power

N-DV(Q-K-RIK/BA

Means

1s mot an

3&

77. Epicureans acceplt which one of the
follewing ethical theories?

fa} Emotivism
._{b) Hedonism
fc) Descriptivism

{d} Prescriptivism

78. Bentharn’s moral the.ty is dedved
from the prerase tht man s

primarily

At insting, ve
{b) rar ona.
fc) sv-aal

vy SCONnoOmic

79, Consider the following statements :

I, The material bi-conditional of
equivalence can also be defined
by a combination of conjunciion
and maierial conditional.

2. The negation of a matenal
conditional can be defined by a
combination of negation and
conjunction. —

Which of the statements given above

is/are carrect? :

faj I ouly
{b} 2 only
_fe) Both 1 and 2

{d) Neither | nor 2



ﬁﬂ%{l Bf AR but cmployses are eligible™
v rrue, then which of the following are
true?

i
2.
3.

All employees are cligible.
No employee is cligible.

All empleyees are non-cligible.

Select the correct answer using the
code given below :

Codde

{a}
fe
{d]

} and 2 only

2 and 3 ouly

L and 3 only

i, 2 and 3

81. Consider the following stalemenis ©

1.

In a formal proof, every line tha”
is not a givg:l pILmlise Tus’ o

justibed by a vulid rule of
inference or by n va'd 1 'e uf

replaceinet.

The last line of a 1o ..." proof is
the conclus on *.a be drawn.

The truth fu-~lonal sentential
logic  -as connedtion
fon. . » oofs.

() [

- Whivh 01 . .e stafements given above

a0 Tect?

hd

fal 1, 2and 3
by Zand 3 only

f¢) 1 oand 3 oonly

{adp b oand T only

M- [T K- MR/ BA

a3

82,

a1

o

x4

1.

Consider the following  stalesnents
according to Carvaka :

-

The universal and  invariabie
relationship cannot be
established  between middle
and major terms.

The soul is body quatified by
CONSCINUSNEsS.

Comparison is a alid . ource of
knowledge.

Which of the ~+a men 5 given above

ape correci

fiz}

i, San. 3

fo} 1 and 3 only

(Cl

2 ;1ntl 3 only

and 2 voly

53. Which ome of ihe following is the

correct expression of Nyaya view of
Praminyavada?

fa}

(bi

(e}

D

(d}

Inminsic validity amd  extrinsic
mvalidity

Extrinsic valididy and intrinsic
mvalidity

Fxtrinsic validity and exirinsic

invaldity

tntrinsic validity and intrinsic

invalidiny



Bd. According to Nyava, infeTence is a %7. Within Kantian framework, which ©f
meaps of knowledge in which we the following holdis) good?

procesd 1. Frecdom of the rational will and

(2} from particular 0 sniversal necessity of natural causabily are
d I AT Lk ar

compatible.
fb) from universal to particular : 2. Necessity of natural causality
) relates the action to  it8
fc) from less universal 1o more consequences, while freedom of
wiiversal . rational will relates e rgent tO

the choice of act on.
___{(H'fﬁ ui patticular te particular via

universal

T

Select e corres . sy =T using the
code given belc v:

_ Code - -
§%. ("ponsider the following stalement :
Karmma is concgived as matertal — fa ) only
particles which enters into the body
and binds it (b} & only
The above statement s true of - {Q}/"Eﬂlh '1 and 2
. A

fa) Buddhism {di Meither | nor 2

Abi " Jainism - _ -
28. Consider the foilowing claims with

fc} 'GHa * regard 1o Kant :

|| Morality is binding on human
fd) Gandhi beme 8

eings.
7. Qur will encounters opposition
%6. Psychologi a1l hedonism  says that - wilhin our own selves.

naturg  “ay put map under two
sove =iz s, Jhey are Which of the statemnents given above

is/fare correct?
'r,  ‘ght and geod
fa) | only
{t) end and .
nd means ) 2 only

k_}_ff} pleasure and pain

\'/Lcjfﬂuth 1 amd 2

{di MNone of the above fdt Neither | nor 2

N-DTY K-RIK/BA 10



e

$9. Inwraditional logic, if ‘A’ proposition is

False, then which one of 1he following
ety is correct?

fa) Ois tue, E s false, 118 true

) 1 is false, O is false, E is
undetermineacd

fe} [ is undetcrmined, O is false,
B is true

.,Lf{_d}rfﬂ is undetcrmined, O 15 froe,

I iz undelermined

LT,

9. According tc ﬁ%ﬂﬁ rr_;lin,_!:f;_;_';ﬂmtatic:rt of

A, E, 1, O propositicns, which of the
following statements regarding their
logical relations ure true?

1. I A istrue, Tis true, 57,

2. If A isrrue, E 15 false.
3. i 1is frlse, O 15 true.
4. FOizimue, bis fa]'ﬁ.
5. HF is true, 1is fals .
) if{:} is false, 2 is ine.

Select the correc. nor wer using the
cade given t ~low -

Cod- -
o} T, Fand &

b} 2, 4end 6

fe] 1 and 2

,\ﬁr”ﬁ and &

_E\'i ..::I:!-i. (‘L K""Rh_]-l";:.l'l 3& 42

1. According to Buddhism, Anupalabdhi

s npof an independent means of
knowledge, because

fa} Anvpalabdhi is a form of

Armumana

fb) Anupalabdhi is reducible io
Pratyaksa

fv) Anupalabdhi -~ nt vead as a
Pramapa 0 .  canonical
literato o of Loved Lhism

fd}r A-~upalubdhl is an absence of
krov lege

. nsider the Iollowing statements

1. Coherence theory concems the
meaning of the word ‘truc’.

2. Coherence theory seeks 1o
identify the. criterion ihat ought
to be met by a trus statement.

3. ‘'Coherence’ concerns only the
relation among propositions.

Which of the statements given above
is/are correct?

{a} 2 only

(B} ¥ and 3

&f?‘ and 3

fil] 3 only



93. Which one of the following statements
is the wrong proposition with 1egard
to the Pragmatic Theory of Truth?

faj The pragmatists hold that the
natare and the tost of trath are

the 38mME -

The pragmatists in genenl do
not believe in degrees of wuth

{0}

fcj To lhe pragmatists, truth is
primarily volitional and oaly
secopdarily intellectual

(i) According to the pragmatists,
truth also consists in vertfication

94, According to Nyaya, Anyathd-khyati
oeours due to

{a} Manasa Pratyaksa
b7 Jiana-laksana Pratyaksa
ic) Sﬁmﬁnya—!aksaga Prat 2’ sa

{d}) Yogaja Pratyaksa

95, Which of the ‘oliowing statements are
lrue regs. np validity and truth of an
argurm. °th

1.  AoTomens are neithf:,; frue 1ier
falar.

A sound argument rnust have
only true premisaes.

3. Both the premises and the
conclusion of a valid argument
musl be true.

N-TITO) K- RJK/BA

44

Select the comect answer using ihe
code given below :

Clode :

fa} 1 and 3 only
by T and 2 only
{ci 2 and 3 anly

fcfj },2and3 -

96, The formal prow” of validity makes use
of
rmes of nference enly

rules of tqﬁiva]e_nce only

f¢} “both rules of inference and
v squivalence
{d} neither rufes of infefence nor

rules of aquivalence

97. The {alsity of the conclusion

-t -
. _{a}"does fot guarantee the invalidity
of an.argument '

does guarantee the invalidity of
an argoment

(b

fc) “does guarantee the falsity of all
the premises
(d) does puaranieg  that  the

argument is invalid as well as the
premises are false



of universal  megative

. respect
78 1n ’ which one of the

pEOPOSILIon, _
following  staterments correctly
represents he position With respect
to the distribution of terms?

fa} Only subject term 18 distributed

fh -fipth subject term and predicate-
term are distributed

fc} Only pre dicate-term i
disteibuted

fd} Noneof the tesrms is distributed

99. An affirmative singolar proposition
asgerts thal

fa) a particular property exists

(p)}~A particialar individual has
'\\'__'_.-'
specific attribute’

{e) a specilic attribute 13 eluae ‘o
other attributes

fd} someatirib .ces .rern ow-existont

100, Conside e ollowing stulements- -

1.0 o iven syliogism is formally
salid, then any other sytllogism ol
WIE 3ame form must also be
valid,

T

If s syllogisuic form is invalid,

thert some, not all, syllopisms of

the same form are jnvalidd.

N-TTO -K-RIK/BA

101. A particular (e

102,

46

f h tﬂ- Eﬂlﬂﬂ:s gi‘r'ﬁr_l ﬂbnvt
Which of the 5

is/are correct?

-
fa) |} only
_ (b) 2 oniy
{c}) Roth 1 and =

td} Neither 1 137

o 1tive Soulement -is

Las eu i affirmative
sirpilar to ¢

. P
staigment in 1 .
15 undistbuied in
\/fﬂjf b Ler- 1t i}
v il -
is  distribued  in
_ . 5
5 abject-tef™”
bath
{ di petmm 15 undistributed
of predicate”
i both |
fdj. e diant e (it s distributed in
preaicates oo
hoth

- é-}ﬂsitiﬂng with =same

When 1wo F’;Edicznc terms are such
subject and I

that they <3

although they ©°
the propositio®

n toth be false, then
are

f2) c.w::-nu-;-yjiﬂ“C'ﬂ’r

,u{f.lf/;uutrar}'

aqly
fc/ sab-coptr?

sdictory
fei} sub conlf'*d



102, Consider the following statements with
regard to Berkeley -

l.

Things do noet exist
independently of perception.

Even when there I3 none to
perceive, God perceives.

Which of the statements given above
is/are correct?

faj

1 onty

fb) 2 only

-

wief “Both 1 and 2

{d} Neither 1 nor 2

1904. Consider the following :

A shell is cognized as a piece of
silver, becanse :

I3

there iz recoganition of e
previcusly koown silver

a ihell resembles wi A ¢, e
soTne respects

thers s a shell at ¢ 1w moment

there is ie. v ati n for silver

Which oft, = ab: s¢ reasons are given
by Practe ~ 1 Mimdisaka ?

L

1 and 4

2 amd 3

I~

fe) 1 and 3

gdf 2 and 4

. "*""_I_‘K IKfEA

195, According to Descartes

i,

2

matter remains constant
itz motion remains constant

it is not motion, but force that
TEImAns constanl )

matter is & substance, having
extension as its aitr b,

Which of the statemc 1% g 2n above
are cofrect?

{2}

{b

fc}

S

1 and 4 onl
1 end =
2 md 4 only

1.2 and 4

i06. Accoirding to Leibmiz, the truths of
) fact, in contrast with the truths of
reason, are founded opon

fail

{bj

N2

(e}

the principle of suflicient reason

the principle of contradiction
only
the oprinciple of empirical
confirmation only

the principle of contradiciion
and the principle of empirical
confirmatior '



197. Which one of 1he following is the
correct  presentallon of  Buddhial
docirine of Apohavﬁda?

{2) Universal is real
{b} Upiversal 1§ a CONCEp! only

v{g}f"ﬂ}ﬁwrsal 1s u name only

fd} Universal is aneal

105, Which one of the following does not
{ollow the Jaina conception of
Ahimhsi?
fa} Porertial equality of all souls
{b) The principle of re:cipmciijf

fch Respeci for all life

il PerERTanane of Waiha

199, Who, aluong s roltowing

phitosophers, —w. =cil €5 10 the view
of ‘pvoho-p v parallelisay’ 1
grder 1o exnla, o' relaiion between
bpidy 2m irie 17

L v oscartes

{py Spinoza

fc) Leibniz

fd] Berkelay

. DTO-H-RAR/8A ¥
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)
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DHPEC IS L

The folicwing cleven (11} itoms  Jomiis
af. two  stalgments,  Statement Poand
Seaterment B, You are o exaimine these (wo
staternents carefirlly and select the answers 1o

these items using tho code given below

Code
ja) Both  the  slatemra are
irpedivichally e and

Srppement 1 3 the corredt

cn;}hzmtion i e, mt B

(b} Both the o ostaomEals GrE
irdivie 1alhy’-ue but Satement H
w5 n0f 1s.~ o Tect expanation of
o tement 1

e} tat ment 1 is rue  but
swatement 1 is false

'

L Statement I s fise bul
Spatement H is rus

110. Consider the Following  SAeMEns
acconding to Descartes |
Stareaent 1o
_ nanel sl Sodv imerc o eah
lf'_ wiher,
Statement I
ath wind  and  body  are
duunactrically apposed  and
mdependenl suDSIANCEs.

Til, Statement 1
Ao argument is vahd whel she
conclusion follows from prRDISt
d :" Statement 1 :
A corresponding argureit form of &
tunstologons proposition i3 valid.



L

|| =8

LR SIS Pl A5 VUF e

accordmy to Nerkeley

-

Satorment 1o

Theie

maticy.

;s no such thing in reality a3

statement £

. Whatever exists iz eithes perceived

e i \ v .
- li.e., ideal; or else it is o moind that
pereeives wWeas.
113, Consider  the following statements
accerling 1o doore :
Staterent B
(D Cied 1y indefinable.
Starenient i <
It tocs not stand for anything.
14, Corider the [ollowing stalements
acording 10 Ayers emotivism -
Staement 1o
there is no contradiction m my
aaying {irst that something is rsght
and subsequently that it i3 wrOnE
“u
i statiment 11
i am cating that | have ¢ riam
fzefimgs toward that tqu 2.
115 Consider  the followsg  tair menis
aceowding to Stevens.
Stutoivent b
\ Al sty have Tl
sleniiic e
a v Sateme 0
e Lobuo.' terms mmay  have emotive
T,
6. % temnont 1 .
~\ Fericoy poasce i Buddhism sonot
v (fi e plzasurcs gained throuph the
- el -
witiment of desires.
e ITT K R A

Perfect pzace in Buddhizm s
ol

slate of calmmess, evenpess ang

passionless seli-possession

117. Consider the following
acconling to Leibmiz @

statement s

Stajemont 1

Every monad is a murer of lhe
- UNIVETSE.

X

118, Comsider 2 folle g
according i Aris s :

Statement B

i Menad has oo wige Wy Jdrough
which anything oulo ~as. 1n Of out.

statements

- S_EF:IT" LI [-
' L.

State nient I

yers ©is not a sehslance.

i e upiversal is merely a commao:

¥ predicate.
119, Consider the following staternents

according to Safkara
Statement'r o
e Jiva can idumine objects by 1ts
. pwn essential nature of intelligence.

Statement 11 :

8 . . e e

. Fhe Hva has Avidva as s Bmiting
condition.

124, Swatement [:

Coberence thepry of nuth works
even if it bears no relation t the

i weorld.
A Statement I1
{Coherence  theory  stales that
propositions  cohere with  ono
angther.






